Planning Guide: Probability

Examples of One-On-One Assessment
Provide the student with a calculator, a compass and a protractor.

1. Present the following problem to the student.

A probability experiment consists of tossing two six-sided fair dice. Use this information to answer the questions below.

a) Does this experiment describe two independent events? Explain.

b) Draw a tree diagram or create a table to show all the possible outcomes for this experiment.

c) Find the theoretical probability of obtaining a sum of 5 on the two dice in this experiment. Show all your work.

d) Describe how you could conduct this experiment by using two spinners instead of two six-sided dice.

Terminology might be a problem so prompt the student by giving examples of independent events, tree diagrams and theoretical probability.  

Provide the student with two six-sided fair dice so that the experiment can be carried out and the various outcomes generated. If the student has difficulty drawing the spinner for part d, remind the student that a circle has 360o so each sector of the spinner must be 360o/6 or 60o.  


2. Present the following problem to the student.

A probability experiment consists of tossing a fair coin and spinning the spinner at the right. The outcomes of the probability experiment are shown in the tally chart below.

	Outcomes
	Tallies

	        H1
	////     ////    ///

	 H2
	 ////      ////     ///

	H3
	////      ////     ////    

	H4
	////      ////     /

	T1
	////     ////    /     

	T2
	////     ////    ////     

	T3
	////     ////         

	T4
	////     ////    //     


a) How many trials were in the experiment? Explain.

b) What is the experimental probability of tossing a head and spinning an odd number? Explain.

c) What is the theoretical probability of tossing a head and spinning an odd number? Explain.

d) Compare the answers in parts b and c. Explain any discrepancy.

e) What would be the theoretical probability of tossing a head and spinning an even number if the spinner showed unequally likely outcomes as illustrated to the right? Show all your work. 

If the student has difficulty with part a, review the meaning of a trial and count the tallies for one outcome. Then encourage the student to count the rest of the tallies to determine the total number of trials in the experiment.

If the student has difficulty with part b, review the meaning of experimental probability and provide the formula if necessary. Also, provide one example of an outcome that would be part of the event described so that the student will then be able to find other outcomes for that event.

If the student has difficulty with part c, review the meaning of theoretical probability and provide the formula if necessary. Also, remind the student that he or she should draw a tree diagram or create a chart to display the sample space (all the possible outcomes) for the experiment. Start the tree diagram or the chart for the student if necessary. 

If the student has difficulty with part d, remind the student that a very large number of trials is necessary in conducting an experiment before the experimental and theoretical probabilities approach the same number.


If the student has difficulty with part e, mark the sectors on the spinners to show that spinning a 2 is three times as likely as spinning a 1. Prompt the student to create a table to display the unequally likely outcomes. If necessary, help the student to begin the table:

	            Spinner

Coin
	1
	2
	2
	2

	H


	
	
	
	

	T


	
	
	
	


1    2


2    2    
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1      2





3      4
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